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Filing Analysis
Module
(FAM)

CEAS/RGS
Batch

Low Risk
Taxpayers

Alternative
Treatment

- SB/SE
- COLLECTION
- CI
- OTHER

No Rules Fired
(Accepted as Filed)

EITC
Pre-

Refund

Non-EITC
Post

Refund

EITC
Post

Refund

Service
Center

Examination

High Risk
Taxpayers

Workload
Analysis
Module
(WAM)

Post Filing
Analysis
Module
(PFAM)

Post Treatment
Analysis
Module
(PTAM)
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14

15

4

12

10
8

6

6

14

9

14

11

13

7

7

3

5

Tax Returns
Filed

Service Center
Examination

Plan

Tests, Research,
& Studies

Service
Center

Submission
Processing

1 2

8

8
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SB/SE Population

Filers

Non-filers

Risk Scoring Model

•Accuracy

•Collectibility

External Data

Internal Data

Decision Support Software

High Risk

Medium Risk

Low Risk

Field Exam
Return Prepared

Correspondence Exam
AUR
Return Prepared

Soft Compliance Letter
Education

Risk Category Treatment Options

Examination method based on 
taxpayer risk, taxpayer needs and 
effectiveness of treatment
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Transcribed Tax 
Returns

Transcribed Tax 
Returns

Electronic Tax 
Returns

Electronic Tax 
Returns

IDC   
Intelligent Data 

Capture

IDC   
Intelligent Data 

Capture

Risk       
Scoring    
M odel

Risk       
Scoring    
M odel

Additional 
Data Not 
Required

Additional 
Data Not 
Required

Additional 
Data 

Required

Additional 
Data 

Required

Additional 
Data 

Specification

Additional 
Data 

Specification

Acquisition 
of Additional 

Internal &   
External 

Data

Acquisition 
of Additional 

Internal &   
External 

Data

Do N othingDo Nothing

Decision 
Support 
Software

Decision 
Support 
Softw are

Research 
W orkload 

R& D

Research 
W orkload 

R& D

Compliance 
Research 

Data B ank

IM S             
M onitoring    

M easurements

IM S             
M onitoring    

M easurements

Compliance Treatm ents
•Education and O utreach
•Soft Notice
•Correspondence Audit
•Field Audit

C ompliance Treatm ents
•Education and Outreach
•Soft Notice
•Correspondence Audit
•Field Audit

Feedback
•Results
•Operational 
Data

Feedback
•Results
•Operational 
DataFeedback Loops

Optional Process

Processes in Risk 
Based Exam

Other Internal &  
External Data 

A vailable at Time 
of F iling

O ther Internal &  
External Data 

A vailable at Time 
of Filing
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